

## <u>Shridhar University</u>

Way to Transform.

## Fee Structure 2020-21

School	Course	Eligibility	Duration	Semester fee	Yearly Fee
School of Engineering & Technology	<b>Diploma</b> (Mining)	10th & 12th (Science)	6 Semesters & 4 Semesters	₹ 26,600.00	₹ 53,200.00
	<b>Diploma</b> (Civil, Electrical, Electronics, Mechanical, Computer Science)	10th & 12th (PCM)	6 Semesters & 4 Semesters	₹ 21,600.00	₹ 43,200.00
	<b>B. Tech</b> (Civil, Electrical, Electronics, Mechanical, Computer Science, Mining, Biotech)	12th (PCM)	8 Semesters	₹ 40,600.00	₹ 81,200.00
	<b>M.Tech.</b> (Civil, Electrical, Electronics, Mechanical, Computer Science, Mining)	B. Tech	4 Semesters	₹ 40,600.00	₹ 81,200.00
	B.Tech. + M.Tech. (Integrated)	12th (PCM)	10 semesters	₹ 40,600.00	₹ 81,200.00
	B. Tech in Computer Science (Cyber Security)	12th (PCM) / 2 Years ITI	8 Semesters	₹ 49,600.00	₹ 99,200.00
	<b>B. Tech</b> (Robotics)	12th (PCM)	8 Semesters	₹ 49,600.00	₹ 99,200.00
	<b>PGD</b> <i>in Cyber Security</i>	Graduation in Science	2 semesters	₹ 40,600.00	₹ 81,200.00
School of Business	BBA	12th	6 Semester	₹ 15,600.00	₹ 31,200.00



Studies and MBA Inte

nternational Trade	IVIBA (Finance & Investment, Hospitality Management, Hospital Administration, Pharmaceutical Management, Agriculture Business Management, HR, SCM & Logistics, Service Industry Management, E- commerce, Production, Retail Management, Operation Management, Agri- Business.)	Graduation	4 semesters	₹ 40,600.00	₹ 81,200.00
	<b>BBA+MBA</b> (Integrated)	12th	8 Semesters	₹ 30,600.00	₹ 61,200.00
	B.Com.	12th	6 Semesters	₹ 12,600.00	₹ 25,200.00
	M.Com.	B. Com.	4 semesters	₹ 15,600.00	₹ 31,200.00
	DHMCT	10th	6 Semesters	₹ 20,600.00	₹ 41,200.00
	ВНМСТ	12th	8 Semesters	₹ 40,600.00	₹ 81,200.00
	МНМСТ	BHMCT	4 Semesters	₹ 40,600.00	₹ 81,200.00
	BTTM	12th	8 Semesters	₹ 20,600.00	₹ 41,200.00
School of Basic & Applied Sciences	<b>B.Sc.</b> (Physics, Maths, Stats, Botany, Zoology, Chemistry)	12th (PCM/ PCB)	6 Semesters	₹ 12,600.00	₹ 25,200.00
	B.Sc. in Defence Studies	12th	6 Semesters	₹ 12,600.00	₹ 25,200.00



	<b>M.Sc.</b> (Physics, Maths, Stats, Botany, Zoology, Chemistry)	Graduation in Science	4 Semesters	₹ 15,600.00	₹ 31,200.00
	BCA (Cyber Security)	12th	6 Semesters	₹ 25,600.00	₹ 51,200.00
	BCA	12th	6 Semesters	₹ 15,600.00	₹ 31,200.00
	MCA	BCA / Graduation with 12th Maths.	4 Sem / 6 Sem	₹ 30,600.00	₹ 61,200.00
	PGDCA	Graduation	2 Semesters	₹ 10,600.00	₹ 21,200.00
	<b>BCA+MCA</b> (Integrated)	12th (Maths)	8 Semesters	₹ 25,600.00	₹ 51,200.00
	<b>B.Sc.</b> (Home Science)	12th	6 Semesters	₹ 15,600.00	₹ 31,200.00
	<b>M.Sc.</b> (Home Science)	BA / B Sc (Home Science)	4 Semesters	₹ 25,600.00	₹ 51,200.00
		odiciticej			
School of Agriculture &	<b>B.Sc.</b> (Agriculture)	12th (PCM /PCB)	8 Semesters	₹ 25,600.00	₹ 51,200.00
=		12th (PCM	-	-	-
Agriculture & Veterinary Sciences School of	(Agriculture) <b>M.Sc.</b> (Agriculture,	12th (PCM /PCB)	Semesters 4	25,600.00	51,200.00 ₹
Agriculture & Veterinary Sciences	(Agriculture) <b>M.Sc.</b> (Agriculture, Horticulture)	12th (PCM /PCB) B.Sc. (Agri)	Semesters 4 Semesters 6	25,600.00 ₹ 30,600.00 ₹	51,200.00 ₹ 61,200.00
Agriculture & Veterinary Sciences School of Humanities, Social Sciences, Arts and Fine Arts School of	(Agriculture) M.Sc. (Agriculture, Horticulture) BSW	12th (PCM /PCB) B.Sc. (Agri) 12th	Semesters 4 Semesters 6 Semesters 4	25,600.00 ₹ 30,600.00 ₹ 15,600.00	51,200.00 ₹ 61,200.00 ₹ 31,200.00
Agriculture & Veterinary Sciences School of Humanities, Social Sciences, Arts and Fine Arts	(Agriculture) M.Sc. (Agriculture, Horticulture) BSW MSW	12th (PCM /PCB) B.Sc. (Agri) 12th Graduation	Semesters 4 Semesters 6 Semesters 4 Semesters 6 6 Semesters 6	25,600.00 ₹ 30,600.00 ₹ 15,600.00 ₹ 25,600.00	51,200.00         ₹         61,200.00         ₹         31,200.00         ₹         51,200.00         ₹         51,200.00         ₹         51,200.00
Agriculture & Veterinary Sciences School of Humanities, Social Sciences, Arts and Fine Arts School of Legal Studies & Governance School of	(Agriculture) M.Sc. (Agriculture, Horticulture) BSW MSW LLB	12th (PCM /PCB) B.Sc. (Agri) 12th Graduation Graduation	Semesters 4 Semesters 6 Semesters 4 Semesters 6 Semesters 6 Semesters 4	25,600.00 ₹ 30,600.00 ₹ 15,600.00 ₹ 25,600.00 ₹ 15,600.00	51,200.00 ₹ 61,200.00 ₹ 31,200.00 ₹ 51,200.00 ₹ 31,200.00 ₹ 31,200.00
Agriculture & Veterinary Sciences School of Humanities, Social Sciences, Arts and Fine Arts School of Legal Studies & Governance	(Agriculture) M.Sc. (Agriculture, Horticulture) BSW MSW LLB LLM	12th (PCM /PCB) B.Sc. (Agri) 12th Graduation Graduation LLB	Semesters 4 Semesters 6 Semesters 6 Semesters 6 Semesters 4 Semesters 4 Semesters 6	25,600.00 ₹ 30,600.00 ₹ 15,600.00 ₹ 15,600.00 ₹ 12,600.00 ₹	51,200.00         ₹         61,200.00         ₹         31,200.00         ₹         51,200.00         ₹         31,200.00         ₹         31,200.00         ₹         31,200.00         ₹         31,200.00         ₹         31,200.00         ₹         31,200.00         ₹         31,200.00         ₹         25,200.00         ₹

Pilani-Chirawa Road, Pilani – 333031 (Rajasthan), India. Website: <u>www.shridharuniversity.ac.in</u> Mail: <u>info@shridharuniversity.ac.in</u> Ph: <u>+91 7895 343434</u>



School of Medicine	B. Pharma	12th (PCM, PCB)	8 Semesters	₹ 30,600.00	₹ 61,200.00
Weaterne	<b>M. Pharma</b> (Pharmaceutics, Pharmacology, Pharma Practice, Quality Assurance, Pharmaceutical Chemistry)	B. Pharma	4 Semesters	₹ 40,600.00	₹ 81,200.00
	DMLT	12th (PCM, PCB)	2 semesters	₹ 10,600.00	₹ 21,200.00
	<b>B.Sc.</b> ( <i>MLT</i> )	12th (PCM, PCB)	6 Semesters	₹ 20,600.00	₹ 41,200.00
	<b>M.Sc.</b> ( <i>MLT</i> )	B.Sc. (MLT)	4 Semesters	₹ 25,600.00	₹ 51,200.00
	<b>B.Sc.</b> (Radiology & Imaging Technology)	12th (PCM, PCB)	6 Semesters	₹ 20,600.00	₹ 41,200.00
	<b>M.Sc.</b> (Radiology & Imaging Technology)	B.Sc. (Radiology)	4 Semesters	₹ 25,600.00	₹ 51,200.00
	<b>MPH</b> (Master in Public Health)	Health Science Graduate	4 Semesters	₹ 40,600.00	₹ 81,200.00
School of Library	D. Lib. I. Sc.	12th	2 semesters	₹ 10,600.00	₹ 21,200.00
Science and Information	B. Lib. I. Sc.	Graduation	2 semesters	₹ 15,600.00	₹ 31,200.00
	M. Lib. I. Sc.	B. Lib.	2 semesters	₹ 20,600.00	₹ 41,200.00
School of Mass	PGDJMC	Graduation	2 semesters	₹ 15,600.00	₹ 31,200.00
Communicati on & Media	<b>PGD</b> in Digital Journalism	Graduation	2 semesters	₹ 15,600.00	₹ 31,200.00
	BJMC	12th	6 Semesters	₹ 15,600.00	₹ 31,200.00
	МЈМС	BJMC	4 Semesters	₹ 20,600.00	₹ 41,200.00
	Certificate of Yoga	10th	1 Semester	₹ 10,600.00	₹



School of Oriental Sciences	Diploma in Yoga	10th	2 Semesters	₹ 10,600.00	₹ 21,200.00
	PGD in Yoga	Graduation	2 semesters	₹ 10,600.00	₹ 21,200.00
	B.Sc. (Yoga)	12th	6 Semesters	₹ 15,600.00	₹ 31,200.00
	M.Sc. (Yoga)	B.Sc. (Yoga)	4 Semesters	₹ 20,600.00	₹ 41,200.00
Research	<b>Ph. D.</b> (Existing in all Master Courses at University)	Master Degree with 55% marks	3 Years	-	₹ 75,000.00

*Note: - At the time of admission, candidate has to submit Form and Prospectus fee, Admission fee and caution money.* 

Description		Fee
Form and Prospectus	₹	1,100.00
Admission Fee for B.Sc., M.Sc., B.com. and M.com.	₹	5,000.00
Admission fee for other courses	₹	10,000.00
Caution Money	₹	5,000.00
Verification Fee	₹	1,000.00
Duplicate Degree Certificate Fee	₹	2,000.00
Correction of Degree Certificate Fee	₹	2,000.00
Transcript Fee	₹	1,000.00
Migration Fee	₹	500.00
Degree / Diploma Certificate Fee	₹	1,000.00
Examination Fee per Semester	₹	1,000.00
Duplicate Marks-Sheet fee (Per Marks -Sheet)	₹	200.00
Provisional Certificate Fee	₹	500.00
Ph. D. Registration & Course Work Fee	₹	30,000.00
Ph. D. Degree Certificate Fee	₹	5,000.00
Ph. D. Thesis Evolution & Viva-voc Fee	₹	10,000.00
Hostel Fee per year (Food and Lodging)	₹	50,000.00

Pilani-Chirawa Road, Pilani – 333031 (Rajasthan), India. Website: <u>www.shridharuniversity.ac.in</u> Mail: <u>info@shridharuniversity.ac.in</u> Ph: <u>+91 7895 343434</u>